[image: image1.jpg]Problem 3.7 3.7 The solid spindle AB has a diameter d, = 1.5 in. and is made of a steel with an
allowable shearing stress of 12 ksi, while sleeve CD is made of a brass with an allowable
shearing stress of 7 ksi. Determine the largest torque T that can be applied at 4.
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Problem 3.13 3.13 Under normal operating conditions, the electric motor exerts a torque of 2.8 kN
- m on shaft 4B. Knowing that each shaft is solid, determine the maximum shearing

stress in (@) shaft 4B, (b) shaft BC, (c) shaft CD.
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[image: image2.jpg]E Problem 3.72 3.72 The design of a machine element calis for a 40 mm-outer—gliameter shaft to

) transmit 45 kW. (a) If the speed of rotation is 720 rpm, determine the maximum
shearing stress in shaft a. (b) If the shaft of rotation can be increased 50% to 1080
rpm, determine the largest inner diameter of shaft 5 for which the maximum shearing
stress will be the same in each shaft.
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